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A parallel plate capacitor'made of circular

plates is being charged such that the surface

charge density on its plates is increasing at a

constant rate with time. The magnetic field

arising due to displacement current is :

(1) non-zero everywhere with maximum at
the imaginary cylindrical surface
connecting peripheries of the plates

(2) zero between the plates and non-zero
outside *°

(3) zero at all places

(4) constant between the plates and zero
outside the plates
L& |

An electric diﬁblc with dipole moment

§ x 1076 Cm isaligned with the direction of a

uniform eleé__ir:ic field " of magnitude

4 x 103 N/C. The dipole is then rotated through
. an angle of 609,_'__:\3-'“}1 respect to the electric

field. The change in the potential energy of the

dipole is : |

(1 121

(3) 081J]

) 157
@ 107

A ball of mass 0.5 kg is dropped from a height
of 40 m. The ball hits the ground and rises
to a height of 10 m. The impulse imparted to
the ball during its collision with the ground is
(Take g =9.8 m/s?) '

a1 o { (2) 84NS -

(3) 21INS (4) 7NS

(i |
The intensity of transmitted light when a
polaroid sheet, placed between two crossed
polaroids at 22.5° from the polarization axis
of one of the polaroid, is (Zo is the intensity of

polarised light;after passing through the first
polaroid): by
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The kinetic energies of two similar cars A and
B are 100J and 225 respectively. On
applying breaks, car A stops after 1000 m and
car B stops after 1500'm. If F; and F are the
forces applied by the'breaks on cars A and B,
respectively, then the rdtio F/Fpgis

(1) @)

()

N|w W=
Wi N —-

3)

The current passing through the battery in the
given circuit, is:

(1) 254 )
(3) 204

1.54

4 054

: {7}

Three identical heat conducting rods are
connected in series as shown in the figure. The
rods on the sides have thermal conductivity 2K
while that in the! middle has thermal
conductivity K. The left end of the
combination is maintained at temperature 3T
and the right end at 7. The rods are thermally
insulated from outside. In steady state,
temperature at the left junction is T} and that
at the right junction is 7. The ratio T,/T; is
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1dentify the correct orders against the property

mentioned

A. H,0 > NH; > CHCl; — dipole moment

B. XeF; > XeO; > XeF, — number of lone
pairs on central atom

C. O-H > C-H > N-O - bond length

D. N, >0,> H, - bond enthalpy

Choose the correct answer from the options

given below :

(1) A, Conly

(3) A, D only

- (2) B.C only
(4) B, D only

Match List I with List IL.

List I List 1T

(Name of (Deficiency
Vitamin) disease)
Vitamin B;, . Cheilosis

Vitamin D II. Convulsions
Vitamin B, I1I. Rickets

Vitamin B IV. Pernicious anaemia
Choose the correct answer from the options
given below :

(1) A-II, B-III, C-1, D-IV

(2) A-IV, B-II1, C-II, D-1

(3) A-L B-I11, C-11, D-1V

(4) A-IV, B, C-1, D-II

Doy

The correct order of decreasing basuc strength

of the given amines is :

(1) N-ethylethanamine > ethanamine >
N-methylaniline > benzenamine

(2) benzenamine > ethanamine >
N-methylaniline > N-ethylethanamine

(3) N-methylaniline > benzenamine >
ethanamine > N-ethylethanamine '

(4) N-ethylethanamine > ethanamine >

benzenamine > N-methylaniline

The correct order of the wavelength of light
absorbed by the following complexes is,

A. [CO(NH;)J* B. [CG(CN]GT—

3+
[cu(sggo)4]2+ D. [Ti(H;0); ]
Choose e correct answer from the options
given be
() C<D< A <B
(3) B<h<A<C
€

(2) C<A<D<B
4) B<A<D<C

el
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82

83

Which one of the following compounds does
not decolourize bromine water?

Predict the major product ‘P" in the following
sequence of reactions -

(i) HBr. benzoy! peroxide

Q/‘”s ) KCN S atis
(iii) Na (H8/C;HOH — (vgaion)
CH, NC
() (2) OZ‘ CH,§
Ne!
(3) i zNH ) H,NH,

-

Match List 1 with List 11

List I List 11
(Mixture) (Method of
Separation)
A. CHCl; + L Distillation
CGHSNHz_ under reduced
pressure
B. Crude oil in II. Steam
petroleum distillation
industry
C. Glycerol from II1. Fractional
spent-lye distillation
D. Aniline - water IV, Simple

distillation
Choose the correct answer from the options
given below :
(1) A-lI, BI%CI D-11
(2) A-111, B-W, C-11, D-1
(3) A-1V, B-IIL C-1, D-Il

(4) A-IV, B-IIl, C-I1, D-1

-,r"l
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102 Given below are two statements : one is 105 Match List I with List I1.
' labelled as Assertion (A) and the other is List 1 List 11
labelled as Reason (R).
Assertion (A) : All vertebrates are chordates
put all chordates are not vertebrate.

Adenosine I Nitrogen base

Adenylic acid Il.  Nucleotide

oow>

Reason (R) : The members of subphylum Ad.en‘mc L. Wucleoside
vertebrata possess notochord during the Alanine V. ‘Amino acid
embryonic period, the notochord is replaced by Choose the option with all correct maiches.
a cartilaginous or bony vertebral column in (1) A-lIL B-II, C-I, D-IV

adults. (2) A-ll, B-1II, C-I, D-IV

[n the llght of the aboye statements, choose the (3) AT RV, -1 D

correct answer from the options given below :

(1) Avis true but R is false

(2) A is false but R is true

(3) Both A and R are true and R is the correct
explanation of A

(4) A-IIL B-II, C-1V, D-]

106 In frog, the Renal portal system is a special
venous connection that acts to link :

(4) Both A and R are true but R is not the (1) Kidney and intestine
correct explanation of A (2) Kidney and lower part of body
L (3) Liver and intestine
103 What is the main function of the spindle fibers (4) Liver and kidney

during mitosis ? .
(1) To repair damaged DNA

(2) To regulate cell growth

(3) To separate the chromosomes
(4) To synthesize new DNA

107 Which of the following “are the post-
transcriptional events in an eukaryotic cell?
A. Transport of pre-mRNA to cytoplasm
prior to splicing.
B. Removal of introns and joining of exons.

104 Match List I with List II : _ i ‘
: C. Addition of methyl group at 5 end of

List-1 List-11I
hnRNA.
A A : ;
B el Steptecoctls D. Addition of adenine residues at 3 end of
and Martha pneumoniae hnRNA
Chase '
e . ir o N Q 2 1‘i ‘-:.”I‘!r..\
B. Euffiromatm I1. Densely packed a g;s:spamnu of fwa:ggmpem
¢ Freae i Sl Shaiucd Choose the correct answer from the options
) erick [1l. Loosely packed R T
Griffith and light-stained o
D. Heterochromatin IV, DNA as genetic (1) v Y
material (2) C, D, E only
confirmation (@) A,B,Conly

Choose the correct ans : 4) B, C, D only
Sil"':ls%?w : wer from the options 4) B,C, )
@ ALV, B-1II, C-1, D-11 108 Polymerase chain reaction (PCR) amplifies

g; 3 icpy DNA following the equation:

(4 ;
| ) A%&BH. C-1, D111 (3) N2 @) 2
48_English ), . .

19 | Contd...

Scanned witH CamSce!me



Scanned with CamScanne




Scanned with Lamscanne




Scanned with CamScanne




.-

130

131

132

Match List I with List'IL
List 1

Pteridophyte I
Bryophyte I1.
Angiosperm Il. Polytrichum

. Gymnosperm IV. Salvinia
Choose the option with all correct matches.
(1) A-IIIL B-IV, C-1. D-T

(2) A-1V, B-1I1, C-II, D-1

(3) A-lII, B-1V, C-II, D-I

(4) A-1V, B-II1, C-1, D-II

List 11
Salvia
Ginkgo

ow >

o

Which are correct:

A. Computed tomography and magnetic
resonance imaging detect cancers of
internal organs.

B. Chemotherapeutics drugs are used to kill
non-cancerous cells..

C. o -interferon activate the cancer patients’
immune system and helps in destroying
the tumour.

D. Chemotherapeutic drugs are biological
response modifiers.

E. In the case of leukaemia blood cell counts

are decreased. j
Choose the correct answer from the options
given below: L
(1) C and D only
(2) A and C only
(3) B and D only
(4) D and E only

What are the potential drawbacks in adoption

of the IVF method?

High fatality risk to mother

Expensive instruments and reagents
Husband/wife necessary for being donors
Less adoption of o ;hans

Not available in In¢

Possibility that the early embryo does not
survive W

Choose the correct answer from the options

Caln o eR ol

‘given below :

(1) A, B, C, D only

2) A B.C,E, Fonly
() B,D,F only

(4) A, C,D,F only

133

134

135

Consider the following :

A. The reductive division for the human
female gametogenesis starts earlier than
that of the male gametogenesis.

B. The gap between the first meiotic division
and the second meiotic division is much
shorter for males compared to females.

C. The first polar body is associated with the
formation of the primary oocyte.

D. Luteinizing Hormone (LH) surge leads to
disintegration of the endometrium and
onset of menstrual bleeding.

Choose the correct answer from the options

given below :

(1) Band D are true

(2) B and C are true

(3) A and B are true

(4) A and C are true

In bryophytes, the gemmae help in which one
of the following?

(1) Nutrient absorption

(2) Gaseous exchange

(3) Sexual reproduction

(4) Asexual reproduction

Given below are two statements : one is
labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion (A) : The primary function of the
Golgi apparatus is to package the materials
made by the endoplasmic reticulum and
deliver it to intracellular targets and outside the

cell.
Reason (R) : Vesicles containing materials

made by the endoplasmic reticulum fuse with
the cis face of the Golgi apparatus, and they
are modified and released from the trans face

of the Golgi apparatus. _
In the light of the above statements, choose the

correct answer from the options given below :
(1) A is true but R is false

(2) A is false but R is true
(3) Both A and R are true and R is the correct

explanation of A
(4) Both A and R are true but R is not the

correct explanation of A
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155 With the help of given pedigree, find out the
probability for the birth of a child having no
disease"'and being a carrier (has the disease
mutation in one allele of the gene) in Fy
generation.

Fy F’ﬁ ' é é)
|:| Un_aff_écted male

- Affelted male

@ Can'fér female

O Un;llﬁ'%-cted female

. Af!‘cct?:d female

(1 1/8 (2) Zero
(3) 1/4 @) 12

156 In the 'seeds of cereals, the outer covering of
endosperm separates the embryo by a protein-
rich la?e?' called :

(n ln‘_r_ -gument
2) At_l'\s;ilrone layer
(3) Coleoptile
(4) Ceoleorhiza
157 Match List I with List IT :
ist I List IT
A. Chlorophylla [I. Yellow-green
B. Chlorophyll b 1. Yellow
C. Xanthophylls [II. Blue-green
D. Carotenoids IV. Yellow to
N Yellow-orange
Choose the option with all correct matches.
(1) AzLy B-I1, C-1V, D-11I
() A-1, B-1v, C-111, D-II
(3) A-III, B-1V, C-II, D-I
(4) A-lII, B-1, C-I1, D-IV
8 English | 27

158

159

160

161

162

Who proposed that the genetic

: code for gm:
acids should be made up of the f aming

€€ nucleotidesn

(1) Jacque Monod
(2) Franklin Stahl
(3) George Gamow
(4) Francis Crick

Histones are enriched with -
(1) Phenylalanine & Leucine
(2) Phenylalanine & Arginine
(3) Lysine & Arginine

(4) Leucine & Lysine

Which of the following enzyme(s) are NOT
essential for gene cloning?

Restriction enzymes.
DNA ligase

DNA mutase

DNA recombinase
DNA polymerase
Choose the correct answer from the options
given below :

(1) Dand Eonly '
(2) B and C only

(3) Cand D only !

(4) A and B only '

moow

A specialised membranous structure in a
prokaryotic cell which helps in cell wall
formation, DNA replication and respiration is :

(1) Cristae €y
(2) Endoplasmic Reticulum
(3) Mesosome ‘
(4) Chromatr)phorqé__'

Which factor is important for termination of
transcription? b

(1) p (rho)
(3) « (alpha)

(2) y (gamma)
(4) o (sigma)
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